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SN SR
HE: sARWA 23
S sHEA YRR EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 168,000 1,130,000 A 962,000
01 X SHMA2E X 168,000 1,130,000 A 962,000
OXNgsd 2dR=x 168,000, 000 168,000
sE==X & 5,505,970 1,620,060 3,885,910
= 4,879,900
< 626,070
=& 2s00lssdH 29 N 66,170 70,070 A 3,900
= 50,900
< 15,270
308 XXM SO0l A 66,170 70,070 A 3,900
= 50,900
< 15,270
01 IXNHHBNEES 66,170 70,070 A 3,900
O=s& Es0l0l=sHH 2¢ 66,170,000 66,170
= 50,900
< 15,270
MBI s 243 X 995,400 331,800 663,600
= 882,000
= 113,400
308 XtXIEHH SOl A 995,400 331,800 663,600
= 882,000
< 113,400
01 X HHILEES 995,400 331,800 663,600
OMaZE=sY 435t XI& 995,400,000 995,400
= 882,000
< 113,400
SEHE AME s 8522 Y FA 96,000 160,000 A 64,000
308 A EHHSOIA 96,000 160,000 A 64,000
01 HXNHHNBMNELS 96,000 160,000 A 64,000
OFdE MaE g 84522 K&
96,000, 000 96,000
SE0tE sss4 =20 N& 149,400 312,300 A 162,900
308 XtXIEHHSOIA 149,400 312,300 A162,900
01 HXNHHBHELS 149,400 312,300 A 162,900
O=sZ0t2 2324 T<00 X& 149,400,000 149,400
MB=se HE=sZE K& 158,000 158,000 0
= 140,000
< 18,000
308 XX EHSOIA 158,000 158,000 0
= 140,000
< 18,000
01 HIXNHHBNEES 158,000 158,000 0
OMIE=sY HE=sZE XA 158,000, 000 158,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 140,000
< 18,000
FEsHYe ™ K& 192,000 210,000 A 18,000
308 AHAIEHHSOIA 192,000 210,000 A 18,000
01 HXNHHBHELS 192,000 210,000 A 18,000
OFYU=s0YgL H2™ XA 192,000, 000 192,000
sZHD =4 XA 30,000 0 30,000
308 XXM SO0 A 30,000 0 30,000
01 IXNHHBNEES 30,000 0 30,000
Os2XD 29 BEs0 s X8
30,000, 000 30,000
HUsgo d=s3% X3 (%) 24,000 0 24,000
= 12,000
< 12,000
201 ¢er24] 24,000 0 24,000
= 12,000
= 12,000
03 A2 Z Hl 24,000 0 24,000
OBERH YO M U 2HH
24,000,000 24,000
= 12,000
< 12,000
HUsgo =& X&(AT) 3,795,000 0 3,795,000
= 3,795,000
308 AHAIEHHSOIA 3,795,000 0 3,795,000
= 3,795,000
01 HXNHHNBMNEELS 3,795,000 0 3,795,000
OBESH SO ARMNLBLEHYE 29
86,000,000 86,000
= 86,000
SETEESTEL-TIRETY- B
3,709,000, 000 3,709,000
= 3,709,000
sgoHHss € E2X 238 1,263,029 1,135,743 127,286
= 45,250
< 1,217,779
SHEEX B2 738,779 738,779 0
308 XtXIEHHSOIA 738,779 738,779 0
01 HXNHHBHELS 738,779 738,779 0
O=sg832X 7= K& 738,779,000 738,779
flHsws N& 59,850 61,364 A1,514
= 33,250
< 26,600
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Sl SYUCHSE L IR 23 CERED
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 59,850 61,364 1,514
= 33,250
& 26,600
02 QI AAIE E X 59,850 61,364 N 1,514
OFH=sgHI2 s 59,850,000 59,850
= 33,250
=} 26,600
SHALHLE (HALEXH) 14,400 108,600 A 94,200
= 12,000
= 2,400
308 XHXIGHH SO0l & 14,400 75,600 A61,200
= 12,000
= 2,400
01 AIKISHHEBENEXZ 14,400 75,600 A61,200
Osgdagzndd 14,400,000 14,400
= 12,000
= 2,400
SO 4 450,000 227,000 223,000
307 2I2t0| & 450,000 227,000 223,000
02 DIZHEAAIE E X 250,000 227,000 23,000
Osgodi s4dAH 210,000,000 210,000
Odlgelsgolciy =4 X& 40,000,000 40,000
04 CIZ2tSHALALS B X 200,000 0 200,000
Ost=2==g3 Ao =203 200,000,000 200,000
Hdsgol g4 6,003,380 6,141,500 A 138,120
=Yl =0 XN 5,571,180 5,700,000 N 128,820
308 AMXIESHMSOIA 5,571,180 5,700,000 N 128,820
MNXSHMENEXZ 5,571,180 5,700,000 N 128,820
OWAEAsHYO #HEJIE(HIRH™) N
5,571,180,000 5,571,180
HEsYolHdyH 29 404,700 424 000 A 19,300
308 MXISHMSOIA 360,000 396,000 A 36,000
01 IXHAHINMNEEXTZ 360,000 396,000 A\ 36,000
OAEsgoHdEH 29 X 360,000,000 360,000
403 XX SHHS K20 & 44,700 28,000 16,700
01 RFXI Sl XF S 44,700 28,000 16,700
OWE=sge & =4 15,300,000 15,300
Od=sgol E8HRFLIE 22 =4
29,400,000 29,400
HE=gol Azt 235 27,500 17,500 10,000
201 gEt24Hy| 17,500 17,500 0




SN sYFYY
Bu: soAM U
Sl sl S4 (el @2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 8,500 8,500 0
Oy - 3dsge 38 g2 8,500,000 8,500
03 &AL Z I 9,000 9,000 0
Od=sgel =4 9,000, 000 9,000
308 XXM S0 A 10,000 0 10,000
01 AXNSGHBLEES 10,000 0 10,000
Od=sgel ANEsH At #IxIOH2 XI&
10,000, 000 10,000
sAE2d & 2229Y 1,588,272 862,211 726,061
J| 1,557,597
< 30,675
sXzel ¥ sEXNGHY S FHAY =4 21,675 25,500 A 3,825
201 Let24d| 7,225 8,500 AN1,275
01 At 2t 2|l 7,225 8,500 21,275
OsXEd 2 2e2Y 7,225,000 7,225
202 O4dl 14,450 17,000 A 2,550
01 = LH 4 bl 14,450 17,000 A 2,550
OsEXNSHe 14,450,000 14,450
SKAOISAE ZALR olHdl K& 1,566,597 836,711 729,886
| 1,557,597
< 9,000
101 14 dl 27,000 0 27,000
| 18,900
< 8,100
4 D12t ZE2XREES 27,000 0 27,000
OsXolszaelX& 27,000,000 27,000
| 18,900
S 8,100
201 Let249] 3,000 0 3,000
J| 2,100
< 900
01 At 22l 3,000 0 3,000
OsAols8&el X 3,000,000 3,000
| 2,100
< 900
308 XXM S0l A 1,536,597 836,711 699, 886
| 1,536,597
01 IXNHHBANEES 1,536,597 836,711 699, 886
Oskolg2e XN& 1,536,597,000 1,536,597
J| 1,536,597
sEXNINY 45,387,780 46,971,546 A 1,583,766
= 35,500,000
< 9,887,780
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Sl mEX Y (29l & 2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HH <= JH & (KI KEAI) 35,500,000 35,500,000 0
= 35,500,000
402 BI2H X =20l M 33,000,000 35,000,000 A 2,000,000
= 33,000,000
02 QIZEXIEAISE X (0| XM THL) 33,000,000 35,000,000 A 2,000,000
O£ &(22EX) 33,000,000, 000 33,000,000
= 33,000,000
403 XX SHHS K20 & 2,500,000 500,000 2,000,000
= 2,500,000
01 XIS A=2E X 2,500,000 500,000 2,000,000
O 2= & (X XA 2,500,000,000 2,500,000
= 2,500,000
HE2EE sdas S2AY 25,500 42,500 A 17,000
403 XX S M S K201 A 25,500 42,500 A 17,000
01 MXSHAHNE2EE X 25,500 42,500 A 17,000
Ood =g sgEs+8E8 25,500,000 25,500
sHI|BHAH(HPE X ™) (HEAY) 4,127,830 3,773,680 354,150
403 XX SHH S X201 A 4,127,830 3,773,680 354,150
01 XS A=2E X 4,127,830 3,773,680 354,150
o= AXAH 4.,127,830,000 4,127,830
=SAHI|BHAH (=ClAIEHES)(HEAY) 3,590,000 3,439,600 150,400
403 XX SHHS K20 & 3,590,000 3,439,600 150,400
01 XIS A=Z2E X 3,590,000 3,439,600 150,400
OAlZ =c2lAlE WES 3,590,000,000 3,590,000
SHIBIEY (ARSI E ) (HSALS) 1,920,000 2,080,000 A 160,000
403 XX SHHS K2 0| & 1,920,000 2,080,000 A 160,000
01 XIS A=2E X 1,920,000 2,080,000 A 160,000
OALRE = H 1,920,000, 000 1,920,000
S| BHAH| (DS A )(HEAY) 214,450 559,000 A 344,550
403 XX SHHMS K201 A 214,450 559,000 A 344,550
01 MXSHHXNE2EE X 214,450 559,000 A 344,550
Oogolet Ayl 214,450,000 214,450
A2 SEHLAMY 10,000 417,500 A 407,500
403 XX SHHS K20 & 10,000 417,500 A 407,500
01 XIS A2E X 10,000 417,500 A 407,500
OAALZ sEHLAY 10,000,000 10,000
SAHI|BHAIE &= 16,235,000 15,307,600 927,400
= 14,000,000
= 2,235,000




SN 5
IREAUREEE = =
a: sYAWA A3

YIIPAIE BB CERED

CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
SN Y22 LEHINE = 8,000,000 6,942,000 1,058,000
= 8,000,000
402 QI2H X201 M 8,000,000 6,942,000 1,058,000
= 8,000,000
02 QI 2 A EZ (01X TH ) 8,000,000 6,942,000 1,058,000
O=Jt2elegd=H HE=> 8,000,000, 000 8,000,000
= 8,000,000
SN2l ERMMES(AZXE) 1,560,000 1,690,600 A 130,600
= 1,200,000
< 360,000
403 MtXSHHE A0l & 1,560,000 1,690,600 A 130,600
= 1,200,000
< 360,000
01 XM A=2EE 1,560,000 1,690,600 A 130,600
OXNg2el XM HE= 1,560,000, 000 1,560,000
= 1,200,000
< 360,000
StUHHI S =01 5,400,000 5,400,000 0
= 4,800,000
< 600,000
403 XIS E X201 & 5,400,000 5,400,000 0
= 4,800,000
< 600,000
01 AXSHMA2E = 5,400,000 5,400,000 0
Oetg il 21 5,400,000, 000 5,400,000
= 4,800,000
= 600,000
222 sZEHY 1,075,000 1,275,000 200,000
403 MHXSHHSA=0l& 1,075,000 1,275,000 200,000
01 HXHHMA=LE X 1,075,000 1,275,000 A 200,000
Ols=5 sgE=+ e 1,075,000, 000 1,075,000
NEJtss M=K o+ M 2k of Of 24 200,000 0 200,000
403 Ut SHHS =0l & 200,000 0 200,000
01 XM A=2E X 200,000 0 200,000
OX£IJtss M==A otd Y
200,000, 000 200,000
L G2 (sE &) 72,811 73,321 A510
dHl(sga =) 72,811 73,321 A510
22 (=Y 72,811 73,321 A510
201 Let249y| 32,300 32,300 0
01 At 22l 32,300 32,300 0
O=sg3x gR=2 32,300,000 32,300
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